





Ref. ठामपा/काअ/पू.प्र/ 314

2023

Date: 09/11/

## दरपत्रक नोटीस

विषय: नविन उपनगरिय स्थानकाच्या कामामध्ये बाधीत होणा-या पॅनल रुमकरीता आवश्यक कामे करणे.

## अंदाजखर्च:- 188700/-

वरील विषयांकीत कामाकरीता ठाणे महानगरपालिका, सार्वजनिक बांधकाम विभाग, संबंधित क्षेत्रात मान्यताप्राप्त ठेकेदारामार्फत टक्केवारी दराची मोहरबंद दरपत्रके मागवित आहेत. सदर कामाची दरपत्रके दि.10/11/2023 ते 17/11/2023 या कालावधीत सकाळी 11.00 ते सायंकाळी 4.00 वाजेपर्यंत नागरी सुविधा केंद्र ठाणे महानगरपालिका,ठाणे येथे स्विकारण्यात येतील. मुदतीनंतरच्या दरपत्रकांचा विचार केला जाणार नाही. जी.एस.टी. नंतर लागु झालेल्या कराच्या बोज्याचा विचार करुन आपले दरपत्रक सादर करण्यात यावे. प्राप्त दरपत्रके शक्य झाल्यास दि.17/11/2023 रोजी सायंकाळी 5.00 वा उघडण्यात येतील. याची नोंद घ्यावी.

अटी:-

- 1.महाराष्ट्र शासना कडुन देण्यात आलेले सार्वजनिक बांधकाम विभागाचे नोंदणी प्रमाणपत्र.
- 2.ठाणे महानगरपालिकेकडे काम पुर्ण केल्याचा दाखला.
- 3.जी.एस.टी. प्रमाणपत्र

सोबत अंदाजखर्च sd/-

> (धनाजी मोदे) कार्यकारी अभियंता

सार्वजनिक बांधकाम विभाग ठाणे महानगरपालिका,ठाणे

## विषय: नविन उपनगरिय स्थानकाच्या कामामध्ये बाधीत होणा-या पॅनल रुमकरीता आवश्यक कामे करणे. SCHEDULE -B

Sr.No	Item No	Item Description	Unit	Qty	Rate	Amount
1	33.16	Providing and laying cement concrete flooring 50mm thick with M20 cement concrete laid to proper level and slope in alternate bays including compaction, filling joints, marking lines to give the appearance of tiles of 30cm x 30cm or other size laid diagonally/ square etc. finishing smooth (with extra cement) in any colour as directed and curing etc. complete. With Crushed Sand.	Sq.mt	45.76	546.10	24989.54
2	36.02	Providingandapplyingwhite- washinonecoatonold/newplastere dormasonrysurfacesandasbestosc ementsheetsincludingscaffoldinga ndpreparingthesurfacebybrushing and brooming down etc. complete.	Sq.mt	324.93	8.4	2729.412
3	36.09	Providing and applying washable powder distemper of approved colour and shade to old and new surfaces in two coats including scaffolding, preparing the surfaces. (excluding the primer coat) etc.complete.	Sq.mt	324.93	30.4	9877.872
4	50.1	Clean the surface to remove dirt, loose particles. Examine the surface closely for any cracks. Clean the cracks. Provide and fill a pure acrylic, polymer modified ready to use paste Polyfill AR of approved make & approved by Engineer in charge having a cream coloured viscous emulsion ready to use acrylic polymeric non-shrink crackfiller putty with auto suction properties and requiring no bonding agent, no curing and no requirement for opening the existing cracks finishing with subsequent filling as required. Provide and apply three coats of 100% acrylic waterproof heat insulating breathable decorative external coating Sunext 8 of approved make & approved by	Sq.mt	55	263.5	14492.5

		Engineer in charge, in the desired			
		shade. Stir well and apply by			
		brush for three coats. Applying			
		three coats at an interval of 4-6			
		hours between each coat.High			
		Performance 100% Acrylic,			
		Waterproof, Anti-fungal, Anti-			
		carbonation, Heat Insulating			
		External Paint should have			
		following minimum properties:1.			
		Specific Gravity: 1.3 ± 0.1 at 25°C			
		2. pH: 7.0 to 10.003. Viscosity: 18			
		· · · · · · · · · · · · · · · · · · ·			
		to 30 sec. at 25°C by Ford Cup One			
		Number B-4 (Dilute 2 parts of			
		product with 1 part of water)4.			
		CO2 diffusion resistance co-			
		efficient (DIN EN 1062-6 (2002-			
		10): 7.59 x1055. CO2 diffusion			
		equivalent air layer thickness (DIN			
		EN 1062-6 (2002-10): 127m @ 190			
		microns DFT6. Adhesion (ASTM D			
		4541): 2.3 N/mm2 (Concrete /			
		Substrate Failure)7. Solar			
		Reflectance Index (ASTM E 1980			
		11,EN 673:2011, EN 410:2011):			
		107 It shall be applied as per			
		manufacturers specification.			
		Providing and fixing factory made			
		door/Window frames of required			
		colour made with wood Polymer			
		composite (WPC) extuded internal			
		ribbed sections conforming to			
		American Society for testing and			
		materials (ASTM) in regard with			
		density, tensile strength, flexural			
		strength, Izod impact, water			
		absorption and screw withdrawal			
		strength with wall thickness of			
		5mm (+/1mm) and with frames			
		having mitred joints at each	One		
5	50.11	corner, joined together by two	Runnin		
5	30.11	nos. of 10 x 8 mm & 40 mm long	g		
		PVC dovetail keys including hard	Metre		
		wood piece support along the full			
		vertical and horizontal length in			
		rebate portion hole for fixing			
		hinges and fixtures and the frames			
		fixed to Walls/columns with 15			
		1			
		mm long dash fasteners/holdfasts			
		_			
		(dash fasteners/holdfasts to be			
		(dash fasteners/holdfasts to be paid separately) etc. complete as			
		(dash fasteners/holdfasts to be paid separately) etc. complete as per the direction of Engineer in			
		(dash fasteners/holdfasts to be paid separately) etc. complete as			

6	50.11 b	1.2 For Profile size of 100 x 50 mm with 32 x 12 mm rebate		6.6	561.7	3707.22
7	51.6	Solid Core Flush door Single leaf Providing and fixing factory made solid core flush door in single leaf 35 mm thick, decorative types, of exterior grade, as per detailed drawings, conforming to I.S.:2202- 1962 (Revised) with approved face veneers on both faces with/without glazing and venetians in the positions shown on the drawings or as directed, all necessary beads, moulding and lipping, holdfasts, mat finish stainless steel fixtures fastenings, finishing with french-polish/ waxing complete. (without door frame).(Sample to be got approved from Ex.Engineer before use) Commercial Hard Wood shutter	one Runing Meter	6.6	2887.5	19057.5
8	39.24	Providing and fixing rolling shutter fabricated from steel laths of minimum thickness 0.9 mm with lock plate of 3.15 mm thickness reinforced with 35 x 35 x 5 mm angle section fitted with sliding bolts and handles for both sides, deep M.S. channel section of depth and thickness not less than 65 mm and 3.15 mm respectively with hold fast arrangements, M.S. Bracket plate 300 x 300 x 3.15 mm minimum size and shape with square bar, suspension shaft of minimum 32 mm diameter, hood cover of M.S. sheet not less than 0.9 mm thickness and of any size at top and safety devices including mechanical gear operation arrangement consisting of worm gear wheels and worms of high grade cast iron or mild steel and one coat of red lead primer etc. complete. (I.S. 62481979) (Without mechanical gear)	One Square Metre	7.35	5070.4	37267.44

					Grand total	1,59,911.81 1,59,911.81
10	6.22	Supplying rolled steel channel post of 100 x 50 mm (ISMC) drilled on top and painted with one coat of epoxy primer and two coats of epoxy finish paint having black and white bands of 25 cm last part of the post 0.75 m below ground level is painted with three coats of red lead paint with 2 nos. of high tensile G.I. bolt and nut of size 10 mm Dia. of 25 mm long including transportation etc. complete. Spec. No.: As per IRC-67, and M.O.R.T. and H. Circular No. RW/NH-33023/31/88 D.O.III Dated 2-5-1994	Per Runing Meter	19.5	1515.1	29544.45
9	39.30	Providing and fixing steel ventilator fully glazed partly fixed as per detailed drawing with hot dip zinc coating including fabricating glazing with plain / obscured glass pans 5 mm thick and approved type quality and iron oxidized fixtures and fastening with guard square bars 12 mm 10 cm c/c and oil painting 2 coats etc. complete.	One Square Metre	3.6	5068.3	18245.88

वरील रकमेमध्ये जीएसटीचा समावेश नाही. दरपत्रक सादर करतेवेळी याची नोंद घेऊन दर सादर करावेत.

## काटेशन-----%ABOVE/BELOW

सदर कामाची दरपत्रके दि.10/11/2023 ते दि.17/11/2023 या कालावधीत सकाळी 11.00 ते सायक्वाळी 4.00 वाजेपर्यंत नागरी सुविधा केंद्र ठाणे महानगरपालिका,ठाणे येथे स्विकारण्यात येतील. प्राप्त दरपत्रके शक्य झाल्यास दि.17/11/2023 राजी सायक्वाळी 5.00 वा उघडण्यात येतील.

Sd/-(धनाजी माद्रे) कार्यकारी अभियम्ना सार्वजनिक बाधकाम विभाग ठाणे महानगरपालिका,ठाणे